REVISION HISTORY

ZONE |REV DESCRIPTION DATE APPROVED

8 PLACES

Imw 15 PLACES

2X

12 PLACES

P2548 UNISTRUT WING SHAPE FITTING - -

4 45 P1747 UNISTRUT ANGLE FITTING - -
3 PLACES k) 44 P1047 UNISTRUT U SHAPE FITTING - -
18 | 43 P23528 UNISTRUT WING SHAPE FITTING - -
DE TA 14| 42 | 1/4-20 X 2.00 LG. SOCKET HEAD CAP SCREW 316 STAINLESS STEEL ;
1| 41| 67102-E-56129-A BOTTOM RING (1TEM f4) - ;
1| 40 67102-56104 OSCAR HE BAG WINDOM - ;
1| 39 - ADJUSTMENT BLOCK STAINLESS STEEL ;
1| 38 67504-00051 SANE HE BAG EXTENSION ; _
2 | 37| 67102-56101-02 ADJUSTER PLATE . ;
| 1| 36| 67102-£-56129-A GEN HE BAG WINDOW ASSEMBLY ; ;
1|35 | 174720 x .75 LG, HEX HEAD BOLT 316 STAINLESS STEEL ;
y 4 | 34| 17420 X 2.0 LG. HEX HEAD BOLT 316 STAINLESS STEEL ;
& PLACES 16 | 33 | 5/16" STANDARD WASHER (FOR 5/16* BOLT) - ;
MH% 4 | 3 5/167-18 STANDARD HEX NUT - ;
8k 2x(12) 52 | 31 1/2°-13 STANDARD HEX NUT - :
8 PLACES ¢ €9 18130 | 1/2°-13 X 3.00 HEX HEAD BOLT - ;
DETAI| “C* < EW 26 [ 29 | 17213 % 75 HEX HEAD BOLT - ;
(2) 5 PLaces 459 | 28 | 1/2°-13 X 1.00 HEX HEAD BOLT - ;
18 PLACES (10) 4x .
29)4x 3.0 5 | 27 98841A033 MCMASTER-CARR THREADED ROD 1/2* ; ;
8 26 95412A732 MCMASTER-CARR THREADED STUD 1/2} - -
3.0 8 |25 90034A030 MCMASTER-CARR THEADED ROD 5/16° - -
8 | 24 3131756 MCMASTER-CARR J-PIPE HANGER - ;
12 | 23 3014746 MCMASTER-CARR EYE BOLT - ;
12 | 22 3001754 MCMASTER-CARR TURNBUCKLE - -
26 | 21 P4377 UNISTRUT U FITTING - -

NN
x X

@ 5 20 174" STANDARD WASHER (FOR 1/4* BOLT) 316 STAINLESS STEEL -
m 8 | 19 P1498 UNISTRUT 90 DEG. ANGLE FITTING - ;
e 9 18 1/2-13 UNC. STANDARD NUT 316 STAINLESS STEEL -
5 PLACES 13 | 17 P1458 UNISTRUT 90 DEG. ANGLE FITTING - -
12 1 16 P2862 UNISTRUT FLAT PLATE FITTING .31 - -
S PLACES L P2864 UNISTRUT FLAT PLATE FITTING .50 : -
4 | 14 P1873 UNISTRUT FLAT PLATE FITTING - -
17 113 P1737 UNISTRUT U SHAPE FITTING - -
mm.@wm wmx 461 | 12 P3010 UNISTRUT CHANNEL NUT 1/2° - -
2X
48 75 @ 12 | 1 P3007 UNISTRUT CHANNEL NUT 5/16" - -
2 PLACES
3 PLACES
4x (12) (3)2x 16 | 10 P3013 UNISTRUT CHANNEL NUT 1/2* (THIN) - ;
4X (28)
(3) 3719 P2484 UNISTRUT ANGLE FITTING - -
10 PLACES
12 8 P2457 UNISTRUT KNEE BRACE - -
111 7 P2458-30 UNISTRUT TUBULAR KNEE BRACE - -
NOTES
1: wwmzcw_}mawmmawmﬁfrm ARE PAINTED GREEN AR 6 P1000HJ UNTSTRUT CHANNEL A_.mzoﬂz mIO<<zv - -
11.25
2: ALL REQUIRED DETAIL LENGTHS ARE @ N 5 P9200 UNISTRUT TELESTRUT TUBE 75.0 LG. - -
SHOWN NEXT TO DETAIL BALLOON. 3x(12)
4 PLACES 5 PLACES 3> ITEM £25 CUT T0 8.0 LG, 3% (29) 8 | 4 P4101 UNISTRUT POST BASE - -
| | TEM Nmu CUT TO 28.0 LG. OR USE STD. LENGTH. 5 PLACES
<> @ 'F REQUIRED ANY SUITABLE MAT'L TO CONNECT AR 3 P1001 UNTSTRUT CHANNEL A_.mzoﬂz mz@ézv - -
4 PLACES 'TEM #22 TO ITEM #2. |2 932504033 MCMASTER-CARR THEADED ROD 1,2+ |  O1© STAINLESS STEEL
(9) 5:> THIS ASSEMBLY TO BE MODIFIED FROM EXISTING OSCAR EXPERIMENT 2% MOUNT TO SOS DECK (LENGTH SHOWN)
(12) 2x SEE PRINT 67102-56100 FOR DETAILS. (NOT SHOWN)LOCATION TO A _ _ _
BE DETERMEND BY JLABS SANE HE BAG
®Mx 6: > SINGLE BAG TAB DEFINED ON SHEET 5. ALL TABS ARE LOCATED ON DORSAL _ STAFF QtY | TTEM PART OR NOMENCLATURE MATERTAL NOTES
mcm_ul>om OTI mw>o REQD NO. IDENTIFYING NO., OR DESCRIPTION SPECIFICATION
8 EACH SHEET OF MULTI-SHEET DRAWINGS SHALL ALWAYS HAVE THE SAME REVISION LEVEL.
7: > MULTIPLE TAB LOCATIONS DEFINED ON SHEET 3. TABS ARE LOCATED ON DORSAL DIM & TOL PER ASME Y14 5 — . Tited Stales
9) SURFACE OF BAG. SECONDARY TABS ARE LOCATED * 30 DEGREES (RADIAL) DETAIL "A" VIEW Sl e UNLESS OTWERWISE Seecifio’ | TRARCIE TR Depar oo, %a: Lab Newpor L News
FROM THE CENTER TAB. %ﬂmﬂ@%mmm >m_Wmo_;>r ANGLES of Energy a8 Joerson Natlonel Accetorator FacTy ;
* N/A X + 1 + ,50°
8: FABRICATION MAY, AT THE DIRECTION OF THE HALL C COORDINATOR, XX 101 APPROVALS DATE HALL C
ADD ADDITIONAL BRACING OR SUPPORTS AS REQUIRED. MATER I AL NOTED THIRD ANGLE PROJECTION %z&ém G SANE EXPERIMENT
9: NO ATTEMPT SHOULD BE MADE TO LIFT THE ASSEMBLED FRAME IN ONE LIFT. THE CHECKED HEL UM BAG ASSEMBLY
FRAME MAY BE LIFTED IN THREE MAJOR SECTIONS. THESE SECTIONS ARE DEF INED — ——
BY THE SYMBOL [L>. MACHINED 125 OTHERWISE — | APPROVED
NACHINED 1R/ HERWL SIZE[DWG. NO. REV.
DEBURR & BREAK ALL SHARP EDGES _/\ ~SPROVED m @ QWOLvl QQQ@O -
DO NOT SCALE DRAWING SCALE  NONE  [Weovassym.  67504-00030 |SHEET 1 OF 3

8 / 6 N + 4 3 7 2 é




3 / §) 5 +‘ 4 3 1
~ 971.65
- 766 .65
EXI1STING
POST 310.65
% .
= ///[
Nw TARGET CENTER
XY (TOP VIEW)
EXISTING
EX ST ING EXISTING POST POST EXISTING A
POST LOCAT ION LOCATION POST 7> = 230.34 -
LOCAT I ON LOCAT I ON |
1 IR . I
7> = 374 .21 -
7> |- 446 .17 -
7> < 590.10 -
7> 662 .06 —
[7:> 877 .95 -—
HE BAGC FRAME POST LOCAT I ONS
LOCATIONS ARE AT THE POST CENTER Aaon <_m§v
6> |- 949 .97 —
6> = 805.97 —
6> = 733 .98 -
B 517.98 -
(6> = 301.98 -
0 6> = 157 .99 >
» | | | | | $ | MW
— —+ — — + —-—]
_ |
_ _ _ | ! TARGET CENTER
_ _ (TOP VIEW)
_ — 20.4 4 VA
L 27 7 ' 14.8
— 33.5
310.7
4X SIDE OF BAG
INSPECTION POINTS 008.7
766.7
971.7 . /5
HE BAG |INSPECT ITON POINTS ﬁ
(TOP VIEW)
)
— 879.5 - - @.Mm|||||VV\\.4\m|guczo THRU
1 (45.4) |- 324.6 - HEL IUM BAG TO BE
4X TOP OF BAG $12.92 AT THIS \\\|é\#|moczo THRU
R56 7 INSPECTION POINTS POINT i
$20.5 _ VAR
11.6 . )
J/////, ﬁl Ao.#.g - - Y A .00 mm\\ i
X | _ _ ” | o] | | 1 | . i ]
a ] b B B K B B B B R B B B - B j E—— o0
ﬁ L//////[I - mew
$62.1 TSC - - TARGET CENTER — - 35.25
310.7 (SIDE VIEW)

WINDOW: 28.0 DIA X
5052 ALUMINUM

BEAM NOMINAL NO DEFLECTION a »

-
BEAM MAX omﬂrmoA_oz.k|||||| I\
N

WINDOW: 28.0 DIA X
5052 ALUMINUM

| |

.04 THICK

7

Q

208.7

766.7

-~ DETAIL D

971.7

He BAG INSPECTITON POINTS

(SIDE VIEW)

/
\

2.2°1
2

\

.04 THICK ////l\\

Ve

He BAG BEAM DerlLECT ITONS

SECTION D-D

NN A RRRRARS >
/

| TEM 39 ADJUSTMENT BLOCK

SCALE 1/2

T 18.33° T
/ K (17.487
— ($69.7) %
TARGET CENTER

—

25.39° «

\///M

zzz

DETAIL E

SCALE 1720

DOCUMENT CONTROL STAMP

SIZE

E

DWG. NO.

6/504-00050

REV.

SCALE

NONE

USED ON ASSY NO.

67504-00050

SHEET

3 OF

3

4




ORSAL

DETATL

n \D/ n

2 PLACES

2X MOUNT TO SOS DECK
(NOT SHOWN)LOCATION TO
BE DETERMEND BY JLABS

STAFF

VIEW

S PLACES

APPROVALS

DATE

DOCUMENT CONTROL STAMP




8 0 + 4 J 2 1
REVISION HISTORY
ZONE |(REV DESCRIPTION DATE APPROVED
~ 71.48 - v
0 a
5.28
0
—~ 72 .00 - °
N 0
5
9.28 2X 8
9
4 )2X
- 71.98 - ° o
A
_ \_ o
|
0
ROL
° [+]
_
\ | 2X
5 N :
/oé\m N\
1/8 N\ A °__°
ASSEMBLY SHOWN WITHOUT
WINDOWS FOR CLARITY
2 4X
R 53X 5.880 = SYMMETRIC CENTERL INE 69 .98
FOR HOLES ONLY
OX 3 520 |= 3 ) 2X ASSEMBLY SHOWN WITHOUT
WINDOWS FOR CLARITY
14X @.281 THRU
X 1.4
2 60 L 1/
]
2 .88 R4
>.00 = 2X 8.270
, _ _ _ : — — 1.00
2X 6.210 2X m.i/
.¢- -¢ AN
_ _ A 4 N * |
_ 1 1.02
SYMMETRIC -l 4.65 2X 3.170 SECTION A-A Ruiy
CENTERL INE \+ \4 «
_ _ 4 4 * ] | e— Nm ﬂ’
. — ™ ALUMINUM 6061
9.00 é 1 3 -08 ADJUSTMENT TAB 100X 1.02X .13 -
ALUMINUM 3003
4750 -08 ADJUSTMENT TAB 2|7 ~07 VERTICAL WINDOW 9.95 X 71.97 X .016 TH | -~
_ _ SCALE 2/1 ALUMINUM 3003
l&- & bl 6 -06 WINDOW 153.28 X 5.28 X .016 TH|
: : ALUMINUM 6061
| by -05 ADAPTOR 9.50 X 19.00 X .063 TH |
ALUMINUM 6061
4 4 -04 HORIZONTAL SUPPORT -
WELD AND VISUALLY INSPECT PER 1.00 X 4.67 X .15 TH
ALUMINUM 6061
AWS SPECIFICATIONS FOR ALUMINUM., 4 3 -03 VERTICAL SUPPORT 100X 7.9 X 13 TH -
AFTER WELDING, JLAB PERSONNEL TO 4| 2 -02 ANGLE oo T Dol -
BOND WINDOWS A_am_/\_m 6 AND wv | N
PLACE USING EPOXY . 1 -01 HE BAG EXTENSION - -
%mqo<o _ZHOm.z_ _omzﬂw«_mm NO. omoummmw»wwqmz mnm§o>_qnm_mo_>>qr_oz NOTES
/muﬂ 25 BREAK SHARP CORNERS 1/64 MAX. PARTS LIST
* _ _ _ m>0_|._ SHEET OF MULTI-SHEET DRAWINGS SHALL ALWAYS HAVE THE SAME REVISION LEVEL.
APPROVALS DATE | DOCUMENT CONTROL STAMP m+mmmW_qm_“rm%mmﬂmwﬂ,mmmw_wwmo. TRACK ING zo.Z\> cm_mwﬂ w”mm .._0 2on _|m_u zz%s.ﬁ News
ﬂwﬂmw@%mmm >m_mmo_;>r ANGLES of Energy mas Jefferson National Accelerator Facility Irginia
= A ”WWMX w”wmm £ 0 APPROVALS DATE HALL C
_05 ADAPTOR e NoTED THIRD ANGLE PROJECT ION | ORAMN SANE EXPERIMENT
TR oI/ S0r%8 SANE HEL IUM BAG EXTENSION
FINISH UNLESS
MACHINED 125/ OTHERWISE \4 APPROVED SIZEIDWG . NO. REV
m%wpmwm@ BREAK ALL SHARP %ﬁw [ E 6/504-00051 _
DO NOT SCALE DRAWING APPROVED SCALE  NONE  [weooNAssyM.  67504-00050 |[SHEET 1 OF 1
8 0 + 4 J 7 / 1




- 35X 3.880 = SYMMETRIC CENTERL INE
FOR HOLES ONLY
2X 3.520 =
14X @.281 THRU
2X 1.460
i
2 .88 Av/
5.00 — - — B 2X 8.270
i
2X 6.210
- R A
SYMMETRIC 4 .65 2X 3.170
CENTERL INE 7
N _ _ Py Y Y
A A
9.00 é
4 .750
9 -
Y
///.mﬁ.mm

-05 ADAPTOR

SCALE 172




Transverse Running

55.88 ! ! 238.76

10

1 5.38
&1 Helium bag
| extension box

()
«<—

|
[
o
|

Vertical Distance from Beam Line (cm)

1 1748

100 200 300

Distance from target center (cm)

e F = 4.734 GeV
oo F=50900GeV



	sh1
	sh2
	sh3
	He_bag_support.pdf
	sh1
	sh2
	sh3

	Extension_crop.pdf
	sh1
	sh2
	sh3




